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3) Consider a periodic function f(f). In the interval ~1<¢<1 the function is

described by f(¢) = ¢*. If the Fourier series of this periodic function is written

as f()= -13—+ Zan cos(n*z*t) , please find out the coefficient a,
n=1
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+) Let A=(A,j)=(4 -

1 0
be a 2x2 matrix and [ = . If 4 satisfies
1 -2 01

the identity A® =ad+ bl please find out the real numbers a and b.
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,})‘ ) A curve is represented by the following position vector

7 = [cos(f) + £ *sin(r)] § + [sin(t) - * cos(O)] j+ [ 1k,

¢ is a parameter. At a point P on the curve the position vector is
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5 [+ j+ %-k . Please compute the curvature of this curve at the point  P.

("°%)




